find all real or imaginary solutions to each equation

3v^2 + 4v - 1 = 0

solve the equation

2y^2 - 3y - 6 = 0

(x-10)(x-2) = -20

determine whether the parabola opens up or down

y = -1/2x^2 + 3

Find the vertex and intercepts for each parabola

g(x) = x^2 + x - 6

find all real solutions to each equation

x^2 + x + ((x^2 + x) – 2 = 0

find all real or imaginary solutions to each equation

b^4 + 13b^2 + 36 = 0

solve, state and graph the solutions set

    a

------- > 0

 a + 2

x + 3

------  ( -2

   x

graph each function and state it’s domain

g(x) = x + 2

h(x) = -3x^2

y = 2(x + 1

